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Step 2 : Channel 35 bbq-tdc vs bbq-adc
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Step 6 : Channel 1 bbq-tdc vs bbq-adc

0

5

10

15

20

25

30

35

Step 6 : Channel 2 bbq-tdc vs bbq-adc

bbq-adc
0 1000 2000 3000 4000

bb
q-

td
c 

[n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5
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Step 6 : Channel 5 bbq-tdc vs bbq-adc

0

10

20

30

40

50

Step 6 : Channel 6 bbq-tdc vs bbq-adc

bbq-adc
0 1000 2000 3000 4000

bb
q-

td
c 

[n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5
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Step 6 : Channel 11 bbq-tdc vs bbq-adc

0

5

10

15

20

25

30

Step 6 : Channel 12 bbq-tdc vs bbq-adc

bbq-adc
0 1000 2000 3000 4000

bb
q-

td
c 

[n
s]

 

5−
4−

3−
2−

1−

0

1

2

3

4

5
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Step 6 : Channel 16 bbq-tdc vs bbq-adc
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Step 6 : Channel 20 bbq-tdc vs bbq-adc

0

100

200

300

400

500

600

700

800
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Step 6 : Channel 21 bbq-tdc vs bbq-adc
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Step 6 : Channel 22 bbq-tdc vs bbq-adc
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Step 6 : Channel 23 bbq-tdc vs bbq-adc
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Step 6 : Channel 24 bbq-tdc vs bbq-adc
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Step 6 : Channel 25 bbq-tdc vs bbq-adc

0

200

400

600

800

1000
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Step 6 : Channel 27 bbq-tdc vs bbq-adc
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Step 6 : Channel 28 bbq-tdc vs bbq-adc
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Step 6 : Channel 29 bbq-tdc vs bbq-adc
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Step 6 : Channel 30 bbq-tdc vs bbq-adc
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Step 6 : Channel 31 bbq-tdc vs bbq-adc
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Step 6 : Channel 32 bbq-tdc vs bbq-adc
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Step 6 : Channel 33 bbq-tdc vs bbq-adc
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Step 6 : Channel 33 bbq-tdc vs bbq-adc
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Step 6 : Channel 34 bbq-tdc vs bbq-adc
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Step 6 : Channel 35 bbq-tdc vs bbq-adc
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Step 6 : TPC vs. VPD z Vertex using <East> & <West>
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